[ Efficiency vs vertpos |
~0.05

9.045F - |----{- i PR e
g H H H
20.04
(&)
$.035
O
£0.03
0.025H--{+
0.02
0.01504: +{ 41T
0.0
0.005

cofl-HHHHEHH B
eAlEnne .

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew6_step?2_tthar-phasel-newgeom
~0.05
—

Lt S S e

o F : : : .
>0.04F------ PR A T P P P
5 F . . : : :
1| ISR SRS RO SISO | W S
5 E : : : : :
£0.03------ LRREEE. AEECEEETRED S I EReen PR
® F . : : : :
0.025;— ------ -------- ..... , .......
0.02F -+ wﬁ e
oo AR

0.0t T
O e S & R SRS X Rt

SRV P DU DUUIE FUTRE N

T E : : : ! :

o 1:— ------- FEEEEE & ; Htr - FEEREEE
0.05F -t {1 HAPEIALL .. S
%535 —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03

o Mt

0.0

Q ]
= - .
© :
04 41114
4
Pt 4k LB F R 3 O O
[ & 4|
- 1T+

o =15 =10 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


